[E#R{E]

EE 3 = D
EENEHKERERGR S 65 1H
HE| KB |#KEHE| SE KR FEAE DO pH CcoD T-P T-N ponz4iba
4 Bl AH B °C °C mg/L — mg/L mg/L mg/L ue/L
A Fal 12:37 9.0 102 8.3 10.1 78 17 0.006 0.21 25
NAJIIG 0.5m
F F AHTAXFa9AY  RIE .
HAIHERR . oo 12:21 10.4 10.4 9.6 10.1 7.7 1.7 0.005 0.19 2.1
B ?F 12:06 6.8 9.9 8.6 9.9 7.7 18 0.005 0.19 2.6
AlIs .om
Pl =/ 11:50 7.1 9.9 6.4 10.3 7.7 1.8 0.005 0.20 2.7
1P 0.5m
g ny =[E 12:59 6.7 10.2 8.7 10.1 7.8 1.6 0.005 0.19 2.7
jt 17¢ 05m _I ﬁ _I _I E
N R =B i
‘ ST oo 11:30 7.1 9.8 7.6 10.5 7.8 2.0 0.006 0.18 2.9
7K H T xE .
8[| oo 13:14 7.9 10.0 6.1 10.5 7.7 1.7 0.006 0.19 3.1
EJAavAF =E :
% 5 3 oo 11:17 5.9 9.2 5.0 10.9 7.8 2.2 0.007 0.20 4.2
AAIYEF =E :
= oo 13:28 8.6 9.9 6.7 10.6 7.9 1.7 0.005 0.18 3.2
SE i Fal 8:33 34 8.5 3.6 11.0 78 2.6 0.009 0.18 4.1
A .0m
S FAF == .
LI oo 9:37 6.3 6.4 1.4 11.9 7.8 3.7 0.023 0.23 15.5
Bl v v5orx == i
s |@ER)0N cut | 1A 128 9:28 6.3 6.6 2.0 11.9 7.8 2.8 0.018 0.24 8.2
YT HautE =E :
5 oo 9:17 6.4 6.9 15 1.3 7.8 2.9 0.019 0.23 6.8
1 1S HARDHD E ] .
BEEEID  osn 13:02 7.1 6.7 1.2 12.1 8.1 2.8 0.059 0.66 12.9
RNly» =z =E }
s 2@ cut | 1A 108 8:50 2.9 55 |>1.0 1.0 7.8 3.6 0.067 0.41 6.1
KB fﬁ 11:38 5.0 6.7 1.0 11.6 7.8 4.9 0.050 0.47 17.1




[E#R{E]

=F = s
ESMEMKERERR 64 2R
HB| #kB [#RKEHE| SR Kig B E DO pH COD T-P T-N | ZO074)ba
4 Bl AH B °C °C m mg/L — mg/L mg/L mg/L ue/L
A = 13:02 6.7 8.7 8.9 10.0 7.6 2.0 0.005 0.22 12
fl ; 0.5m
F F AHTAXFa9AY  RIE .
HAIHERR . oo 12:45 6.6 8.8 9.1 10.2 7.7 2.0 0.006 0.22 1.5
SR fﬁ 12:31 5.8 8.6 8.5 9.9 7.7 2.0 0.006 0.22 1.3
pesiens el 12:14 5.8 8.7 8.2 10.1 7.6 20| 0005 0.22 15
g Ty el 13:22 7.0 8.7 75 9.8 7.6 1.7 0.005 0.23 1.6
jt 17¢ 05m Zﬁ 6 E
) RV, el 11:53 5.7 8.2 4.9 102 7.6 19| 0008 0.25 16
7K H T xE .
8[| oo 13:37 7.2 8.7 7.1 10.1 7.7 1.7 0.005 0.22 1.9
EJAavAF =E :
e oo 11:41 55 7.6 5.7 11.1 7.7 1.8 0.007 0.25 2.0
AAIYEF =E :
= oo 13:50 6.6 8.5 6.5 10.7 7.6 2.0 0.006 0.22 2.1
SE i el 9:06 7.1 7.8 19 11.4 1.7 23| 0015 0.27 3.1
v FAF RE .
LI oo 9:36 7.0 6.7 1.9 11.7 7.8 2.8 0.012 0.24 6.0
Bl v v5orx == i
s |BiE 20 =i | 2A8A 9:24 4.9 6.5 1.5 11.9 7.7 2.6 0.013 0.24 3.3
YT HautE =E :
5 oo 9:09 4.2 6.4 1.2 11.5 7.7 2.9 0.016 0.25 3.9
1 1S HARDHD E ] .
BEEEID  osn 13:38 7.4 7.3 0.8 11.2 7.9 2.6 0.051 1.11 3.1
Ay = xE .
s |[2ET =i 2A78 8:57 5.6 5.4 0.8 10.8 7.7 3.5 0.064 0.74 3.0
KB fﬁ 10:48 7.1 6.9 1.0 11.3 7.8 4.1 0.031 0.32 16.2




